giosewill(@

Server Rack-mount Sliding Rail Kit
RSV-RL20H / RSV-RL26H

User Manual



®
%‘3‘&“".’! Server Rack-mount Sliding Rail Kit

Kit Contents

RSV-RL20H/RSV-RL26H User Manaul

Item

L-bracket *4 pcs

Slide Rail *2 pcs

[ =- E=-

o E3o [E3o j

M4 Screw Pack

M4 Screw x 20 pcs

i

M4 Nut x 12 pcs

©

M5 Screw Pack

M5 Screw x 12 pcs

A

M5 Washer x 4 pcs




®

RSV-RL20H/RSV-RL26H User Manaul

Server Rack-mount Sliding Rail Kit

osewill

Overview

Center Rail

Outer Rail

L-bracket

M5 Screw
Inner Ralil



®
M Server Rack-mount Sliding Rail Kit RSV-RL20H/RSV-RL26H User Manaul

© Slide Rail Structure
4 N\

. Outer Rail

The slide rail is consist of three rails: Center Rail, Inner Rail, Outer Rail

© Separating the Center Rail

Pull all the way out to its maximum slide position. Locate and release the locking lever by
sliding it upward. This will release from .



®
osewill

Server Rack-mount Sliding Rail Kit RSV-RL20H/RSV-RL26H User Manaul

© Installing the Center Rail

Place and align with mounting points on the server chassis and install it using
M4 Screw pack .

Note: 1. Do not screw on the handles.
2. If installing the center rail onto a 2U server chassis, keep the rail 1 to 2 inches
away from the handles for better fitments.

| — = > — =—1 po Not screw
‘ onJEandIe.
> 000000 @ @ v
noannn e
[ ® — ) —m — =P ] b
00000 o ' A
b 000000 :
e
—>—l

Keep 1~2 inches

O Installing the L-Bracket

L-bracket

i\ﬁﬁ
U

O o o0

-

r\

2

[ Y Yo »

Ul'le o o

S ates ks

OO OO O

\§ 1™

Install the L-bracket on the cabinet frame using M5 Screw Pack &M5 Washer.
Note: Please make sure to tighten all the screws until they are snug. Do not over tighten.

4

J




®
osewill

Server Rack-mount Sliding Rail Kit RSV-RL20H/RSV-RL26H User Manaul

© Installing the Slide Rail

IS

L
"‘.'-"‘""
:
(@ ]DDDED@DDDDEB == =} Ic=@: qJJ

— 1
N J

Install the outer rail on to the L-bracket using M4 Screw pack .
Now the L-bracket, (R2) and (R3) should be well installed on the rack.




®
M Server Rack-mount Sliding Rail Kit RSV-RL20H/RSV-RL26H User Manaul

0 0 0+ B B
0- 0 0+ 6 B

EE@EQ = Fi—] @DDDDDDUDDJI:IHD
i

:«:@: 1 > c c »@::
1.
=
=

®
femn)

"
femn)
1

- J

Repeate the step 2 through 5 to install another outer rail.

O Installing the Chassis

7 7
7
J 7
0900 aggg

4 N\
2,
2 »
\ T
TEAM LIFT C &) =) =
\ J

Slide the server chassis into position by aligning and sliding onto the slide rail ( and )
on the rack.

Note: Installation is suggested to be accomplished by two persons each lifting one side of
the chassis for easier aligning the chassis with the slide rail when sliding the chassis onto
the rack.



7{ ewill

)
%‘% Technical Support Information
techsupport @ rosewill.com 1-800-575-9885

Thank you for purchasing a quality Rosewill product.
Please register your product at: www.rosewill.com
for complete warranty information and support for your product.

RSV-RL20H / RSV-RL26H



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

